Multiply.

70.
74.

78.
80.

82.
85.
88.

91.

T(x + 3)
3n(n + 5)

9a(a®> — 3a — 4)

71. 5(y — 4)
75. —41(3 — 21)

%6(662 — 3¢d + 9d?)

(m+ 4)(m + 2)
Gx —2)x+7)

(u+ 3)w? +2u+5)

Ix — 4y
3x — 2y

72. —3(n —2)
76. 6k(2k — 7)

(4-5, 4-6)

73. —8(1 + 4m)
77. —5h(8h + 3)

79. —5b*(3b> — 2b + 6)

81. %uvz(lOu2 — duy + 8v?)

83. (n—3)(n+)5)
86. 4y —2)3y — 1)

92. 5a — 8b
da + b

89. v-DBV+4+7)

93. ¢ + ef + f?
et+f

84. (a—6)(a—17)
87. (6m + 4)(5m + 3)
90. (3¢ — 5)(2c¢* — ¢ + 8)

94. 3m®> — 4mn + n?
Sm+n



